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12JIEt243 34,000 34,000 0
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-9=2(588) 1,732,300& 129 122 2,681,601
— A=A 924,711
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= 7,000
03 I HLs22 N 7,000 7,000 0
OAAMNSP Y ZHl XA 7,000
= 7,000
Jl2& bl 306,650 278,290 28,360
Jl2dd (™) 243,650 221,290 22,360
201 LEt2 A Y| 19,200 15,350 3,850
01 AFR2t2l bl 19,200 15,350 3,850
O&NSYg LEtx=FH| 1,100,000& x12& 13,200
OANESE S 8,000& x30YH x254! 6,000
202 04| 27,300 26,600 700
01 2LHOHI 27,300 26,600 700
O&aNM2g ol 20,0003 #3349 x5 3,300
O=2WHA bl 20,0003 *8H 150 24,000
203 &R =&H| 117,650 106, 140 11,510
01 J|2A2H L R=XH| 92,400 89, 100 3,300
oz 52,800
ORz2Z 36,300
OJ22HIL2=RY(HAE =X =F) 3,300
02 HRJIAE R =&Y 20,270 17,040 3,230
O™ L=XHI () 20,270
04 EANSHLR=XH| 4,980 0 4,980
ORANSELERFAY| 415,000 x12& 4,980
204 XD Y| 79,500 73,200 6.300
01 M HR-HAY| 79,500 73,200 6,300
o=z 975,000& x12& 11,700
oRzZs 600,000& x12& 7,200
Osgilsdy 4% 400,000& *12& 4,800
ORFRXRH, ALMA2F
350,000 »2H x12& 8,400
OAZHI2E & SHEY 150,000& *11H = 12& 19,800
OMSAEAMNE LT 100,000& *12& 1,200
OHGtETZAIE A H 100,000& = 12& 1,200
oss & A2 Ao - HE
100,000& *13H x12& 15,600
O2SAMNRUE, M2AJ 100,000& x3H x12& 3,600
ORsHE 50,0003 *10H x12& 6,000
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2N #HH

B NSRBI (BED)

Sl Il = Al (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
J2du(22AsH) 9,000 9,000 0

202 O4dl 9,000 9,000 0
01 = LH YI 9,000 9,000 0
O=U o di 20,0003 x3H x150 9,000
gy (z4d) 15,000 15,000 0
202 O4dl 15,000 15,000 0
01 = LH 4 Hi 15,000 15,000 0
O=3UWoHI 20,000 x5 » 150 15,000
gyl (e 2y HE) 9,000 12,000 A 3,000
202 oddl 9,000 12,000 A 3,000
01 SLHOYI 9,000 12,000 A 3,000
O=Wotl 20,0003 x3H 150 9,000
J2H(E2H &) 12,000 21,000 A9,000
202 4Hl 12,000 21,000 A9,000
01 = LH o4 1l 12,000 21,000 29,000
O=U A bl 20,0003 *»4H «150 12,000
2yl (SaZHE) 18,000 0 18,000
202 O4dl 18,000 0 18,000
01 =S LHAYI 18,000 0 18,000
O =L Hi 20,0003 x6H x150 18,000
Ne2as(ddn) 900 0 900
RSN 900 0 900
=.&H X3 gt& 900 0 900
802 BtEt= DI EF 900 0 900
02 Al - EHIEXZSEHEZ 900 0 900
OsatZEAS (KMot 0l4) 900
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